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2C1(g)—* C1 9 (9), the sign of values of All and AS are 

(A) 	+,- (B) 	+,+ 

(D) 	-,+ 

2C1(g) -+ C1 9 (g) 69coaTugrb AH ww AS W6L6T6T (64 	puJ 

(A) 	+,- (B) 	+,+ 

(C) 	-,- (D) 	.-,+ 

2: 	The ratio of specific heat for poly atomic molecular is 

133 (B) 	1667 

(C) 	1.40 (D) 	1.67' 

jjj1i aiuQuuu G.Mpb 

(A) 	133 (B) 	1667 

(C) 	1.40 (0) 	1.67 	' 

3 	The Boyle temperature of N 2  is 

(A) 	340 K (B) 	220 K .  

332K (D) 	310K 

opLvNaft6k.  un) 	QuCjio 

(A) 	340K (B) 	220K 

(C) 	332K (D) 	310K 

4 	What pressure is exerted by a mixture of 2.00 g of H 2  and 8.00 g of N2  at 273 K in 

10 litres? 

(A) 	28 6 atm (B) 	286 atm 
• 	 2.86 atm • (D) 	0.286 atm. 	• 

273 K 	uouo 10 aSLL 	2 A H 9 	wjth 8 Al N9 	TrrJ. O66u 	ujib 

• 	 .• . 	 •• 	• 

•(A) 	28.6 atm (B) 	286 atm 

(C) 	2.86 atm (D) 	0 286 atm 

3 	 • SAIC/19 
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5. For a fixed mass of a gas, the volume is directly proportional to Kelvin temperature and 
inversely proportional to the pressure is the statement of 

(A) Gay Lussac's law 	 (B) Dalton's law 

Combined gas law 	 (D) Avogadro's. law. 

UJn1 	 ii 	 Qthã Qu Cj 	 Lb 

	

r 1jco 	ib fDg 

(B) 

(C) 	 D) 	mQjG&rrLrfrr 11 

6. At constant temperature, the mean free path is 	 . 

(A) directly proportional to pressure 

inversely propbrti&nal to pressure 	. 	. . 

(C) directly proportional to volume 

(D) density 	 . 	 . .• 

wITDn Q 	U)GDU1O go GUTrU4€961 .rri1 &L4curr uir 	- 	. 

(A) 

(B)  

(C) . 	.. 

7 	The pressure P in the ideal gas equation is replaced by

on 	
P an (A) P-- 

• . 	• (C) 	• 	+-4- 	. 	. 	(D) 	P+ 	
. 	. • 

• 	.. 	 2V 2  

€urru &Lo6uu[rLJ 	 'P'— 	u1Gorr 	uj 

(A) P — - 	 (B) P+- 

	

(C) 	 (D) 
pfl2 
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• 	8. The efficiency of heat engine operating between 400.K and 300 .K is 
(A) 	1.0 (B) 0.50 

(C) 	0.75 0.25:... 

• 400 K wiib 300 K- 	i.Xuj Quju3ib 	roi 

10 (B) 050 

(C) 	0.75 	 . 	 . D) 0.25 

9 2HI 	112 	12' the K 	value is 

(A) 	greater thanK 	. (B) less than K 

equal to K (D) zro 

• 2111 	112+ '2 6T!) &Lpomw &iu K 

• (A) 	K 	 . 	 . (B) K 	9i.. 

(C) 	K &6  jW (D) j1uJib 

10. At chemical equilibrium, 	• 

•  
~Oe • Rf  =.Rr 	 • 	 • •. 	

(B) R > R 

(C). 	Kf  = Kr 	 . 	 . 
• 	 .(1). Rf  <Rr  

• c6 	 )U• 

. (A) 	Rf  = :Rr  •• 	 (B) Rf >Rr  

(C) 	Kf  = Kr 	• 	 •. 	 •• 
. 	 (D) .Rf  <Rr  

11. Which of the following does not takes place at cathode?. 

C1 —* Cl + e (B) Ag + e -+ Ag 

• ( 	Cu2 .+ 2e —* Cu • 	 D) 2W + 2e —+ H2  

ff LQU ) 

Cl--*Cl+e 	.. 	 . 	 • . 	 (B) Ag+e.—*Ag 
• (C). 	Cu 	+ 2e — Cu (D) 2W + 2e —> H2  

• 	
4- 
4- SAIC119 

[Turn over 



12. 	Ostwald's dilution law is applicable to 

NHOH (B) CH3COONa 

(C) 	HC1 (D) NaCl 

UrFL. 	rrD 	LI6T6J(FLO Quffb 	&LuJJ? 

(A) 	NH40H (B) CH3COONa 

(C) 	HC1 (D) NaCl 

13 	If '5' is the solubility of AgC1 in water the solubthty product K 	is given by 

(A) 	K3 =S 4IK=S2  

(C) 	K 8  = S3  (D) K3  

1b 	rri 	Srorrb smvopm& Quib K 	udmo. 

(A) 	K3  = S (B) KSP  = S2  

(C) 	K3,, = S3  (D) K3  = 

14 	When the precipitation occur 
%441!311 	Q>K 5  (B) Q=K 3  

(C) 	Q<K 3  (D) Q:!~ K 3  

QPUI TUQUff(J 1gI.(LJw 

(A) 	Q > K 3p  (B) Q=K 3  

(C) 	Q<K 3  (D) Q:!~ K3  

• 	15. 	Pick out the buffer. 

NH40H + NH4C1 (B) NH4C1 + NH4CO3  

(C) 	NH4C1 + NH4F (D) N1140H + NaOH 

(A) 	NH 40H + NH4C1 (B) NH4C1 + NH4CO3  

(C) 	NH4C1+NH4F (D) NH 40H+NaOH 

SAIC/19 6: .• 



16 	Winch of the factor does not affect the degree of dissociation? 

(A) Nature of solute 	 (B) 	Nature of the solvent 

(C) Temperature 	 Pressure 

T)T GTJ i1r1 

(A) Quiiw 	 (B) 	EmVuLjrrafl&rw 

(C) Quuuw 	 (D) 	(W 

17. 	The salt bridge in the electrochemical cell serves to 

(A) increase the rate at which equilibrium is attained 

(B) increase the, voltage of the cell 

maintain electrical neutrality 

(D) increase the oxidation/reduction rate 	
0 

C61)6T 	TQ)!e) 	ULI  UOT UU6TUrrc3 

(A)  

(B) 

(C) iâ ujrr 

(D) .' 

18. 	The strength of an acid depends on the 

(A) number of hydrogen atoms present in its molecule 

concentration of H 	given by it on ionisation 

(C) concentration of water 

(D) concentration of acid 

6)1UJW GTMpU Qujj7 

(A) Qrrrn 

(B) siujaM ubiCurtj 	iib H 	Q&#cq  

(C) jW& Q5 	 . 

(D) Qr 

7 	 SAICI19 
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19 	ZnS is not precipitated when H 2S is passed through the filtrate of group I during salt 

analysis This is because 

• 	 the K8  for ZnS is very high 

(B) the K for ZnS is very low 

• 	 (C) 	ZnS evaporates 	 • 
(fl) 	all of these 

UTUfiI u5uu1ruJ&1GU GnWlLvRcsk &uL 	u(u6) 	LJu 	 uwCurrj 

]ri 	uc3 	uii Qsrr3uuj 	oo srrrw 

(A) flrsj& &6)GnuG)&6 K LnOuLA a 

(B) u(K 3  LDOuLA  

(C) ou 	 rrb 	 • 

(D) •ib 

20 	At half equivalence point, the [salt] = [acid] Therefore 

• 	 (A) pKa=pKw 	 pKa=pH 

(C) pH=pK 	 (D) pHpKw 

urr1 &Lorrm rruo [uLj] = [ iL6kw], 	uuTrrGo 

(A) pKa =pKw 	 (B) pKa = pH • 

(C) pH=pK 	 (I) pH=pKw 

21 	Calculate the K value for equilibrium reaction 2Ag + Zn 	Zn2  + 2Ag, E° = 1.56 V 

(A) 	1  X 1051 (B) 62x10 

(C) 	3x105 ' 	 62 x 1052  

2Ag+ZnZn2 +2Ag, E° =156 V 

GLDGGo g# ULgLt— 	rt&T K Ul5T LO]U)U 	rI® 

(A) 	1x1053 	 (B) 62x1053  

(C) 	3 x 1051 	 (D) 6.2 x 1052  

SAICI19 	 8 



22. What type of colloid is milk? . 	 . 	 . 

(A) 	Sol 	 . (B) 	Foam. 

(C) 	. Gel 	. Emulsion 

utrb croiiji 	&wib? 

(A) 	. 	 . 	 . (B) 

(C) 	&Ofl 	 . (II) 	. urrbioib 

23. . Whichis used as antiseptic? 	.. . 	 .. 

CHC1 3  Cu 3  

(C) 	Aspirin 	 . . - 	 ())• 	NO. 

CHC1 3 . 	 . 	 . . (B) 	CHI3  

(C) 	frn9oi 	. 	 . 	 .. 	 . .. 	
. 	

ii 	N20 

24. Using microwave spectroscopy, 	. is determined. 

(A) 	force constant (B) 	chemical shift 

bond length 	. (D) 	g..value 

&G?k,=sqMGO OvdlujmGo U UJTU 	 L5J rrLu? 

A) 	 . B) 	C 

(C) 	rLiq 	 . 	 . 	 . (D) 	g-u 	wICL] 

25. The energy of scattered light is greater than the incident light in  

(A) 	Stokes line Anti Stok&s line 

(C) 	NMR.. 	. 	 . (D) 	ESR 

ri1u1oT 	DD 	IrLJJW 4DD 	TUT 	fl) 	LD1FTJ 	TTUJ 

(A) 	. 	 t.rrâñj Crr@ . (B) 	—fokJràsñ) Cwr(3 

• (C) 	• 	NMR 	• 	 .. 	 .. 	 . 	 . (D) 	ESR 

4- SAICI19 
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26 	JR spectrum is exhibited by 

(A) 	H 2  (B) 	N2  

(C) 02  HCI 

OiI 	8IGuuL1 	GLSlUJO 	1rLw2 

(A) 	H2  (B) 	N2  

(C) 	02  (D) HC1 

27. 	Radio waves are used in 

(A) 	ESR (B) 	JR 

(C).• Raman NMR 

uujuj? 

(A) 	ESR (B) 	JR 

(C) 	&rrw6k (IJ) 	NMR 

28 	The study of absorption,* metabolism and excretion of drugs is related to 

(A) Pharmacy 

(B) Pharmacopoeia 

Pharmacokinetics 

(D) 	Pharmacophore 

wJu Qurr(rr 	Qro uuo ww QCc 	u] 

U [cPU LI 

(A) urrirwäi 

(B) unirrihurr 

(C) u 	wCri4n) 

(D) urrrrLoCun- rr 

SAICI19 	 10 



29. 	Match the following: .. . 	 . 

• 	 (a). 	Disinfectant . 1; reserpin 

(b) 	Antibiotic 2 p- acetamol 

(c) 	Antipsychotic 3 Pencillhn 

• .. 	(d) 	Antipyretic . 4 Phenol s  

• 	 • 	 (a) 	(b) 	. (c) (d) 

• 	
(A)4 	1 2 3 

•.)1 	2 3 4 

(C)2 	3 1 4 

3...1 2 

(a) 	15 	Q&rr6ba 1 115rr1€1 

• 	 (b) 2. p-iiwrrb 

(c) wirruj W®i •• 3 QuTIIG6kr 	... 

(d) iio 	66 . 4. iruo 	• 

(a). 	:(b) (c) (d) . 

• 	 (A)4 	'1 2 3 

(B)1 	.2 3 4 

3 1 4. 

(D) 	4 . 	3 1 2 

30. 	Metal mixture of Lanthanides are 

Misch metal . . 	 . 

(B) Plate metal . . 

• 	 (C) 	• Pseudo metal .. •. 	 • 

• 	 (D) 	Actinides . • 

• 

(A)• 	 OF[b 

• 	
• 	

(:) ... . . 

(C) • 	 rrtJ Guff& . 	 . 	 • 

(D) i 

11 	 SAIC/19 
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31 	Which of the following compound would have the signal for its methylene hydrogens farmest 

down fields? 

(A) 	CH3CH2 	C1 (B) 	CHSCH2  -I 

(C) 	CH3CH 2  -Br 44 	CH3CH2  -F 

rrWO 	6rrrr 	LLJr6T LL 	 & 	 GD 15&ftq Q w 

(A) 	CH3CH2  -Cf (B) 	CH3CH2  -i 

(C) 	CH3CH2  -Br (D) 	CH3CH2  -F 

32. 	Match the following . . 

(a) 	Foam 1 	Dispersion of solid in liquid 

(b) 	Emulsion 2 	Dispersion of gas in liquid 

(c) 	Soil 3. 	Dispersion of solid in Gas 

(d) 	Smoke 4. 	Dispersion of liquid in liquid 

(a) 	(b) 	(c) (d) . 	 . 

(A)1 	2 	.3 4 

(B)1 	3 	4 •  2 

2 	4 	1 3 

(D) 	2 	1 	.3 4 

• • 	 . 

(a) 	jij 1 uQu uuQu o 

• 	(b) 	urrbithb 	 • 2. eirru 	Gurr(5afl6b eftGqp6b  

(c) 	• 	 . 3. Quff u&b 6Irio 

(d) 	L46ng • 	 . 4. 	. Qu 

(a) 	(b) 	. 	(c) (d) •. 	 •. 	 . 	 . 

() 	1. 	2 	• 	3.4 . 	. 

(B) 	1 	3 	4 2 . 	. 

.(C): 	2 	1 	1 3 . 	 .• 	 . 	 . 	.• 	 . 

(D)2 	1 	3• •  4 . 	 . 	.. 	 . 	. 	 . 	. 	. 	. 

SAIC/19 	 12 



• 33. 	Cis-trans isomers can be distinguished by• : 

(A) 	Optical rotation Rill 
Dipole moment 

(C) 	Surface tension (D) Viscosity 

® U-6r 	Li 	 8rLuJ uuiu(3tb 1UJL1UJb uri 

(A) (B) 

(C) 	uiyuI.. @9 G960& (D) uni 	6TOL 

34 	A Ferric chloride sol moves the negative electrode The colloidal particle carry 

.A) 	No charge. 	 . 	. Positive charge 

(C) 	Negative charge 	• (D) 	• Both ± and - charge 

Qu6lTn( 	wii 	rIfr 	pruj 	 frá 	 wth Quiwr 

La6k &mW 

(A) 	&&aimwo (B) Ciw 

(C) 	Gror L61 &aim 	. (D) +wb—&rGw 

	

35. 	The efficiency of a heat engine is given by 

	

• 	 __ 	 __ 

(C) 	
-T2

-.  
q2 	T2 

Quu 	&Eci 4r 	ii 

• (A) 	
wT2—T1 	

(B) 
wT2-TI 

q2 	 q2  . 

(C) . .. 	 • 	(D) 	
wT—T2 

q2 	T2 	•. 	 • 

(B) 
wT2- 

q2 	•T1. 

(D) wT1-T2 

q2  

SAIC/19 
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36. 	Langmuir isotherm is given by the expression 

(B)O= . 
k[gas]+1 kga8]-1 

(C) 	0= 
 k [gas] -1 

(D) 0= 
 k [gas] +1 

k.gas k.gas 

rrrb1L61iurr &wQQiuu 	LLT Qrru rjrri 6i1LQ)rrLD 

(A) 	9 
= 	k [gas] 

(B) 0= 	k[gas] 
k. [gas] + 1 k. [gas] -1 

(C) 	
9k[gas]-1 

(D) 
0 k [gas]+l 

k.gas .k.gas 

37 	Langmuir adsorption isotherm is applicable to 

Unimolecular/mono layer (B) Multi layer 

(C) 	Bilayer (D) Tn layer 

4i1ó1uJT 8W QiiuuCrr® 6r 	UUJ6TU 	(uw? 

(A) 	aj (B) u 

(C) 	@1YQk@ (D) 

38 	The concave meniscus of water is due to 

(A) 	Cohesive NOO Adhesive 

(C) 	Viscosity (D) Refraction 

$r1QiT 	6LlU 61 mmu4O&9 &rrrJ6wLDrrm UTL4 

(A) 	@GngffuH 1 & (B) 9L@ thk)8 

(C) 	uiw (D) 

39. 	The 	o1ecu1es A0 2  and D02  have p # 0 and p =0 respectively. The geometry of A0 2  is 

Bent 	. (B)' Planar 

(C) 	Linear.  .D) Tetrahedral 

AO., 	ww DOS. & 	(p 	r wIui 	pou)p#O wiw 	p=0 	riiru A02  
LLLj 	 . 	 . 

(A) 	jg 	 . (B) uwpanb 

(C) 	iiCrr9 (D) ri.pl 

SAIC/19 	 . .. 



40 	Match List I with List II and select the correct answer using codes given below 

List I 	 List II 

(a) Sodium 	 1 	Diamagnetic 

(b) Magnesium 	. 	 •2. 	Ferromagnetic 

(c) Iron 	. 	 .3. 	. Paramagnetic 

(a) 	(b) 	(c) 	. 	 . 

(A) 1 	2 	3 

(B) 1 	3 	2 

1 	2 

(D) 2 	3 	1 

riuki UL4UJ4) I LT ULJL1UJO If Mu QurrI f1urri uQ) 	rrQ 

• 	 I 	 II.. 

(a) rrtuJw 	 1 

(b) Qi0601ujw 	 2 	rrw 

(c)ibi.j 	. 	•- 	. 	3.. 	r.rr!oT&)w 

(a) 	(b) 	(c) 	., 

2 	3 

3 	2 

(C)3 	1 	2 
(D)2 	3 	1 

• . 41. 	Which is wrongly matched? 
• 	• 	(A) Foam 	- . Soda water 

• (B) 	Sol 	 - 	Ink 

.....Aerosol 	- 	Milk 

D) Gel • 	- 	Butter 

(A) 

(B) 

(C) 

(D) 

4- 
4- 

gGT Qu 

• 	- 	ccrLJrfl,ff 

MW fl1J) 	 - 

• 	 •--• 	• UIT1) 

- • QjrQrij. 

15 
• 	. 	: 	- 	• 	•SAIC/19. 
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42 	Which of the following is/are correct? 

I 	Atomic radius increases in going down a group 

II 	Nuclear charge decreases on moving from left to right in a period 

III 	An anion is larger in size than its parent atom 

(A) 	I and II only 	 (B) II and III only 

(C) 	III only 	 I and III only 

	

Gro6'u &Muirr6a G)J 	LU 1BiG1T' 

I 	go Qui 	 w 

II 	 QTLJD 1L.L6I®4J  6LIGDLD QJW Gurro 	 TffLLW 	DDI 

III 	® 	 ITLLS1GT 4UJ nQj 6L 	 uw QTLI 

(A) 	I ww II LOLD 	 (B) II wjw III LOL®W 

(C) III wL®io 	 D) I ww III ww 

43 	Match the molecules and their shape. 
List I 	 List II 

(a) AB2 	 1 	Trigonal planar 
(b) A133 	 . 	2. 	Tetrahedral 
(c) AB4 	 3 	Linear 
(d) AB5 	 4 	Trigonal bipyramid 

(a) 	b) 	(c) 	(d) 
(A) 3 	2 	1 	4 
(B) 2 	3 	4 	1 

3 	1 	2 	4 
3 	4 	2 	•:. 

ULtLU1)J 	 uLUDII 

(a) AB2 	 1 	5WT 	IrrW 
• 	. (b) 	ABa 	 2. 	 JÜJL 	• 	• 

(c) AB4 	 3 	CrrCrr3 QJIJW 

(d) AB5 	 4 

(a) 	(b) 	(c) 	(d) 
(A) 3 	2 	1 	4 
(E)2 	 1. 	 . 	.•.••• 
(C)3 	1 	2 	. 	4 
(D)1 	3 	. 4 	• 2 	 . 	. 

SAIC/19 



44. 	Match the name of Silicate (List I) with the, structure of anion (List II). 

List I List II 

(a) 	Ortho sthcate 1 Si3 O 

(b) 	Pyro silicate 2 (S'03 )2n 

(c) 	Ring silicate 3. SiO 

(d) 	Chain silicate 4 Si 2 O 

(a) 	(b)' 	. 	 (c) •  (d) •  

(A) 	3 	1 	4 2 

3 	4 	1 2 

(C) 	2 	3 	4 1 

(D)1 	3 4 

Orb (€j 	I)-b 	irr 	 Quuft 	, 	 th6Tr 6rL&r6T  

(i&II) 	ui1 

II 6)JFlII 

• 	 . 	

• 	 (a) I. Si3 O 

(b) 	GnuGrjrr AG@G83L 2. (SiO3 ) 	 • 	 •. 

(c) 3. SiO4  

(d) 4. Si 9 O 	• 

(a) 	(b) 	(c) (d) 

1 	4• 2 

•(B) 	3 	4 	1 •2 

(C).2 	3 	4 1. 

(D)1 	3 	2 4 

17 	 SAICI19 
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45 	CHCl+ 	+Si 	H3)S1C13 +H2 

2HC1 	 (B) NH3  

(C) 	H2 	 (D) C1 2  

CH3C1+ 	>+Si 	 +H2 c>(CHa)SiCl3 

(A) 	2HC1 	 (B) NH3  

(C) 	. 	H2 	 . 	. 	 (D) C12  

46 	The highest bond order among the following molecules is 

N 2 	 . 	.. 	(B) 02 

(C) 	H2 . 	 . 	. 	(D) NO 

66L] GrchT Qrrn_ 

(A) 	N 2 	 (B) 02  

(C). 	H2 	. 	 (D). NO 

47 	Which is the incorrect statement about silicones? 

(A) 	Silicones are water repultents 

(B) 	Silicnes.are. non toxic 	 . 	. . 

Silicones cannot withstand temperature . 	. 	. 	... 	 . 

(D) 	Silicones are not affected by chemical reagents 

)TI:J .0 	51iIUJDfl 	 . . 	. 	. 	. 	... 	 . 	., 	 .. 	 . 	... 	 . 	. 

(A) $ 	 . 	. 

(B) . 	C 

(C) Crrirr 	 ujrrj 

. 	. 	. 	. 	. 	:. 
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48 	The second ionisation energy regardless of the element being considered is always 

greater than the first 

(B) immeasurable 

(C) 	negligible 

D) lesser than the first 

• 	 ujI 	tb 	igtjCurrib 

(A) 

(B) TlL. 	JJ 

(C) Laffi i6 

(D) po mLu afl uj rr&6Lb 

49. 	Lattice energy means 

(A) energy absorbed when one gram molecule of the crystal is formed from gaseous ion 

(B) energy neither evolved nor absorbed. 

energy evolved when one gram mole of the crystal is formed from gaseous ion 

(D) entropy 	 . 

L! 	L)LlUL1 	DDD GT6TUJ 	 . 

(A) ujjrr 	6rr~§ qn 	bpcij uiAib 	 ib Qu 	Gr9ib 

(B) no Q 	uIio iow 	Qrrrrjw 

(C) eirrq 	 . 9~rrnb 	VGo&&Lg utb 	iih Qurr 

(fl) 	iEi  

50. . Which of the following elem ent has zero electron affinity?. 

(A) 	Na 	 ,. 	. 	 (B). H. 	• 	 .. 

	

Ar 	 ... 	..(D)F. 

• 	 . 	 rwib 	uj 	L 	 QrrLJ? 	. 

: (A) 	Na 	 . 	 • 	 •. 	 (B)H 

	

(C) Ar 	 (D) F 

4- SAIC/19 
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51 	Which is not a natural silicate? 

(A) 	Quartz (B) Mica 

Glass (D) Feldspar 

rJ 	urri 	5l&C.sL. 	Q)O9 

(A) 	6currftLdo (B) GnLD&asrr 

(C) 	ri (D) Qunurr 

52. 	Chiorosilanes + 	? > 	Silnols +HC1. 

(A) 	02  H20 

(C) 	H 202  (D) 02  

+ 	> - 	Cur 	+ HC1 

(A) 	C1 2  (B) H20 

(C) 	H202  (D) 02  

53: 	General electronic configuration of actinides . 

(A) 	[Rn,] 5f 0  114 6d° 7s°  

(B) 	[Rn] 5f0  1146d027s° 

(C) 	[Rn] 5f114 6d02 7s' 

[Rn] 5 f 014 6d02 7s2  

r90r Q u rrju rrr 	irrri 	uu i 

(A) [Rn] 5f 0  114 d ° 7s °  

(B) [Rn] 5f0  1146d027s° 

(C) [Rn,] 51014
6d02 7s' 

(D) [Rn] 5f046d°2 7s2  
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54. 	Match the name of scientist (List I) with the discovery of law (List II). 

List I List II 

(a) 	Henry Becqueral I. Group Displacement law 

• 	 (b) 	Soddy-Fajan 2. Radioactivity 

(c) 	Geiger-Muller 3 Artificial Radioactivity 

(d) 	I. Curie and REliot 4. Radiation Counter 

• 	

• 	 (a) 	(b) 	(c) (d) • 

1 	4 3 

(B) 	1. 	2 	3 4 

(C) 	2: 	3 	1 4 

).2 	• • 4 	1 3 

51uj 	 r Quuirr (an 	I) 	rrii 	urrrr 	(Qir1 	II) Quj 

6II 

(a) 	•Qi 	Qurrb 1. • 	 . 

(b) 	 • 2. uijy. 

(c) 	Qth-ybofr 3. Q& uib 

(d) 	kgM wjb&Lb GTG@ujL 4. awrr 

(a) 	• 	 (b) 	(c) (d) • 	 ; 

(A) 	2 	1 	4 3 •. 

(B) 	1 	2 	3 4 

(C) 	2 	3 	1 4 

1 3 
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55 	The reaction taking place at anode and cathode are respectively 

Oxidation, reduction 	. 	
. . . 

(B) Reduction, oxidation 

• 	(C) 	Reduction, hydrolysis • 

• 	(D) 	Oxidation, hydrolysis 	. 	 . 	 . .. .. 	 • 

qpff~&Qj mb W 	 ü6)LQuLU 696mm&drpcu 

(B) 9®Lo 	 6$TW 

(C) ®w 	u(o 

(D) 2ipio 

56 	Oxygen molecule is 

(A) . diamagnetic 	,. 	 • ,. 

• 	paramagnetic 	. 	 . 	 . 	 . 	 . . 	 . 	 . 

(C) ferromagnetic 

(D) 	antiferromagrietic 

• 	
U8 	TGTUJ 	 . 	

0 	 • 	 . 	 • 

(A) 	 rrw (diamagnetic) 

uj€bib • 	 . 	 • . 	
0 

(C)  

(D) 

SAIC/19 	 22 



• 	 57. 	Assertion (A) : The standard oxidation potentials of Lanthanides decrease from La to Lu. 

Reason (R) 	The reducing property and electro positive character decrease from La to Lu 

Both (A) and (R) are true and (R) is the correct explanation of (A) 

(B) Both (A) and (R) are true but (R) is not correct explanation of (A) 

(C) (A) is true but (R) is false 

(D) (A) is false but (R) is true 	 . . 

: 	 oi1i 	nS1i yji 	1 	La to Lu  

rrrth(R) :to Lu 

(A) w 	R)r@ 8 ii1 	RuA- 	 rib 

(B) (A) mpg  m (R) &jdk@CD thl Cwiib (R) Gr6ku§ (A)-9 

(C) (A) 	1 	io (R) pQjg  

(D) (A) 	rnb (R)  81 

58. 	Consider the following pair: 

1. 	. Mish metal 	- 	 Brands of steel 

II. Thorium 	- 	 Cannot be used directly as fission fuel 

III Plutonium 	- 	 Cannot be used directly as fission fuel 

Which of the .pair given above is/are correct? 	. 

I only 	. 	 • 	 . 	 . 	 Sol, 	I and II only 
• 	

. 	 (C) II and III only 	. 	 D) 	III only 	
.. 	 • 	 . 	 • 

• 	 . 	 . 	 .. 

I L&mQLOLO 	- 

II. GprrfflujLb 	- 

Ill.. 3Lflth1UJLb - 	 rrL1iLl 	)GO6Tki) GpfflmLujrr,% uru 

. 	 • 	 • 	 . 	 . 

Iwiib 	. 	 . 	 (B) 	IibjibIIwiib 	. 	 . 	 . 

(C) II wpiio III ww 	 (D) 	III w9io 
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59 	Consider the following statements 

I 	Natural uranium contains 235 and 238 U isotopes 

II 	23 U and 235 U can be used as fission fuels 

III 	25 U and 238 U can be used directly as fission fuel 

Which statement is/are correct? 

(A) 	I alone 

I and II alone 

(C) II and III alone 	. . 	. 	. . 	. 	 . . 

(D) I and III alone 

I 	 iw qGVQjjuj 25 U 	238 
U 	uirr Qurrirj 

II 	233 U ww 235 
	 LSIaruL1 	 Qurr®srrrrs uiu3rrw 

III 	235 U iejw 238 U rf du@w 	1rru 	 Qurrrr uuiucrrw 

/T)6)1 5TJ))J? 

Iwio 

(B). 	ILOILb II ioib 	. 	. 	 . 

(C) II wjw III wi®w 

(D) I LOJbgJLU III LDLLfl 	 . 	. 	.. 	 . 

60 	Which isotope is used as fuel in space air craft? 

(A) 	U235 	 p238 

(C) 	La '4° 	 (D) Ce 142  

rQutfI 	ñko 	Quffnir uusruLo 	rrCrru irJ? 

	

(A) 	U235 	 (B) Pu238  

	

(C) 	La 14° 	 (D) Ce' 42  
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61 	How many a and 8 particles are emitted when 211 U changes to 	6 Pb 92 

(A) 7a and 6 	.• 	 . 	 and 6,8 	. 

(C) 8a and 7/3 	 (D) 	7a and 7/3 

92
238 

6 Pb wiw(urri 	a wjw 8 §&&&Gnar Qr? 

(A) 7a &ow 6,8 	 (B) 	8a Loop Lb 6,8 

(C) 8a iüjw7fl 	 (D) 	7a wpio 7,8 

62. 	The coordination number of a metal atom/ion in a complex is 

(A) number of hgands in the complex irrespective of number of donating sites 

number of coordinate bonds formed 

(C) half of the number of ligands 	 . 	 . 

(D). number of electrons donated. 	 . 

go =zICn6WGq w 	 -.. 

(A).  rr661&afi6k Gr66oTaofl&Go&. 	S 	
: 

(B).. i1  

(C) rraflaafi& Gr&Tmfl&6n&u9(.bUrr 	. 	.. 	 . 	... 	 . 	S . 

(D) QuuL 

63. 	Which of the following, complex has square planar structure? 	. 	. 	. 	. . 	. 

(A) [CoC1 4 ]2 	 (B) 	[NiC14 ] 2  

[Ni(CN)4 ] 2 	 (D) 	[Ni(H 20)4  ISO4  

rL W1bIthkD &Dij 	JMLDULj 	C 	Wlfp( 	6rr6rrjJ? 

(A) [CoC1 4 ] 2 	 (B) 	[NiC1 4 ]2  

(C) [Ni(CN) 4 ]2 	 (D) 	[Ni(H20)4]SO4 

S 	 . 	S 	25 	 . 	... 	SAIC119 
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64 	When (C 6H 5 )3 P is used as a hgand the co-ordinating centre is 

(A) C atom 	 (B) Phenyl ring 

• 	• 	P-atom 	 (D) H-atom 

• 	(C6H5 ) 3 P 90rrafluirra; QuUi 	 uj6u 

(A) 	C-atom 	 (B) 6niGo uJL±.W 

(C)•. P-atom 	• 	 (D) H-atom 

65 	Ligand means 

(A) donates a single electron to the metal ion 

• 	(B) 	accepts a pair of electrons from the metal atom • 

donates a pair of electrons to metal atom 

(D) accepts a single electron to from the metal atom 

(A) P—Ge)rr& qujafl&g gj 	irri Q®Ij 

(B) rri Qu 

• 	 (C) 	rr 	 rrrii Q®tpi 	 •. 

(D) 	 j go aW&LL7rrmaT Quj • 

66 	EAN rule is otherwise called as 

18 electron rule 

(B) 	16 electron rule • 	
• 

(C) 	l4 electron rule 	 • 

• (D) 	12 electron rule 	 • 

EAN GOO iruj 

• 	(A) 	18 GTcu&LLqrrrdT 690 • 	 • 

(B) 16 	irrr 

(C) 14 	irri € 

(D) 12 GTGu&LryrrGk 60 
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67 	Match the reactants (in List I) with the indicator (in list II) 

List I List II 

(a) 	Fe2 /Cr2O 1. Ferric Alum 

(b) 	AgNO3/CNS 2 MnO 	(Sell) 

(c) 	CuSO 4/MIS 2O 3 K3Fe(CN)6  

(d) 	Fe 2 '/MnO4  4 Starch 

(a) 	(b) (c) (d)  

(A) 	1 	2 3 4 

3 	1 4 2 

2 1 4 

• 	
(D)2.. 	1 3 •4 . 

(GuiI 	I) Quft 	wr 	9rLJ 	(&io 	II) 	ui 	 Qujj 

QUIF(J . • 

'II 

(a) 	Fe2 /Cr0 1 Quiu 

(b) 	AgNO'l /CNS7  2 MnO 	(&u) 

(c) 	CuSO4/KI/S 20 3 K3Fe(CN)6  

(d) 	Fe2 /MnO 4 irrr 

(a) 	(b) (c) (d) . 	 • 	 . 	 . 	 . 	 .. 	 . 	 . 

(A) 	1 	2 3 4 

(B) 	3 	1 4 2 

.(C) 	3 	2. 1 4 . 	 . 	 ... 	 .. 

(D) 	2 	1 3 4 
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68 	In analytical chemistry a determinate error is one 

(A) The reason cannot be identified and hence cannot be corrected 

The reason can be identified and hence corrected 

(C) The reason can be identified but cannot be corrected 

(D) The reason cannot be identified but can be corrected 

9( 	U&U 	 uj TTUI 

(A) arrvayrW3&Quirrj 	irr & T IQ udj u OwGorro 

(B) rrbJrr Q9uLo ri Quu 	tij uw 

(C) &rrVczrrW3dr G Q uj 

(I)) 	srrry6wrb&& Qujiri 	inu 	Quui 	uo 

69. 	The significant figure of a reported analytical value gives 

(A) An average value 

The best accuracy expected from reported value 

(C) The precision of the reported value 

(D) The error in the reported value 

u&urrLbe@Gb Q 	uuL± wutSko 	 GrGiromb GT&u§ 	Quu9jw? 

(A) &rfrr&r9 wLu 

(B) QuuL L618 &rflurrr ietuu Qu 

(C) Quu 

(D) QuuLJ. 	T61Q) .IT1F 	pU1F 

70 	The complex with compositionMabcd didn't exhibit optical activity the possible reason is 

(A) The complex may be tetrahedral 

The complex may be square planar 

(C) The complex is octahedral 

(D) The complex is trigonal planar 

Mabcd GT6kjD Qj 6n,5ujrrGa 	 pØl 	 rr 	rprro 

(A) &p GairLDLb 	rpi uuw Qri 

(B) rrwio 	auqeJw Qrrrii 

(C) froib 	rrr 	 rrni 

(D) &p G&CTLDLb Qi 
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71 	Match the complex (m list I) with geometry (m list II) 

List I List II 

(a) 	[Ni(C?] . 1. Tetrahedral 	. 	 . 1. 	•. 

(b) 	[ZnC1 4 ] 2  2 Trigonal bipyramid 

(c) 	Fe(Co) 5  3 Square Planar 

(d) 	[Co(NO2)61
4  4 Octahedral 

(a) 	(b) 	. (c) (d) 

(A) 	2 	4 3 1 

(B) 	2 	.3 1 4 

1 .2 

(D) 	3 	2 1 4• 

TL 9Gr9j,00Gw 	G&ffLorb&6naT (6uif1 	I) 	 ji 	(in1 	II) 	uil 

jfr'kI 6J1l6)ff II 

(a) 	[Ni(CN)] 1 jrrpw 

(b) 	[ZnC1 4 ]2  2. át1i 

• 	 • 	 • 	 (c) 	. .Fe(Co)5 .. . . 	 . 	 . 

(d) 	[Co(NO2 )6 j4  . 4. 

(a) 	(b) (c) (d) 

(A) 	2 	4 	• 3 1 • .  . 	 . 	 . 	 .. 	 . 

(B) 	2 	3 1 4 

(C) 	3 	1 2 4 

• (D) 	.3 	2 1 4. •... 
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72 	Addition of Br2  on CR2  CH2  in the presence of NaC1 2 , gives 

	

CR 2  BrCH 2  Br 	 (B) CH3  -CR2  -CH 3  

(C) CH 2  = CR2 	 (D) CR 4  

Br2  j GTOAd&6 NaC1 2 	o6o 	wurr kiuui 

(A) CR 2  BrCH2 Br 	 (B) CH 3  -CH 2  -CR 3  

(C) CR 2  = CH 2 	 (D) CH4  

73. The reaction between ethylene and bromine is, an example of 

Electrophilic addition 

(B) Electrophilic substitution 

(C) Nucleophilic addition 

(D) Nucleophilic substitution 

r1T wjjw 	i1iw 	LUJU16T €Ii16t 	O(5 PrrfW? 

(A) 	irrr 	in 	rr 

(B) 	oátiri 	69i 

(C) 	€urr 	ra 

D)®6tht U10L 	I9606T 

74 	Nitration of benzene is 

(A) Nucleophilic substitution 

(B) Nucleophilic addition 

Electrophilic substitution 

(D) Free radical substitution 

Qu&gaflGb MPLGrrr 	thIi GTmuo 

(A) 8G1 UIGL Q)QT 

(B) un 

(C) rrr Jrr uG&.® Gg m6uf 

(D) pa'fi P--gi:jL4 uL31 d1)6T 
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75. 	Hofmann's rule is• 	 . . 	. 

Less heavily substituted alkene is the preferred product. 

More heavily substituted alkene is the preferred product 

(C) No substitution in the alkene 

(D) Formation of transition state 

(A) uuLáthrr 

(B) uLiiuii. 	o4á& 	jrr 

(C) U 	ijurr 	okoith 

(D) urrIgj 

	

76. 	The stability of 2, 3.. dimethyl but-2 ene is more than 2-butene. This can be explained in 
terms of  

(A) . 	 Resonance 	 . 	 . . 	 . 	 . 	 . 

r9 	Hyper conjugation 	.. . 	 . 	 .., 	 . 	 . 	 - 

(C) 	Electromeric effect. 	. 	 . 

D) 	. 	 Inductive effect 	. 	 . 	 . 	 . 

2, 3-ntQwo 	L-2 rr&dfld) OmQ)üq p&GoLD 2- ith1à 	 wui& 	ib.. 

(A) . 	 .. 	 . 	 . . 

(B) L9TuL4 	 . 	 .. 	 . . 	 . 	 . 	 . 

(C) . 	 .. . 

(D) . . 	 .. 	 . 

77 	In, SN1  the first step involves the formation of 

(A) 	free radical 	 (B) carbamon ion 

carbonium ion 	. 	 .(D) transition state 

SO 	 UtU) 	6U6 . 

(A) 	ICILI 	
. 	

(B) rrftui Gr1fr 	uJI 

(C) 	arrfru6ffuj 	 (D) 

SAIC/19 
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78.. Resonance means 	 . 

a molecule represented by more than one electronic arrangement but none of them 

true 	 . 	 . 	. 	. 	. . 

(B) a molecule represented the' arrangement of atom 	 . 	. . 

(C) .. a molecule represented the arrangement of proton 	. 

(D) a molecule represented the arrangement of neutron 	. 

6q 

(A) 	 Cwuij 	iirr 	wuu 	urisrr €&ijiIuuj 

• 	(B): 	 WUULJJ . 

• 	(C) árffio &r 	rrã 	wu 6&1iIuI 	. 

(D) 	 irrr 	 wuu 	jj 

	

79. 	HypercOnjugation is called 

(A) resonance 

NWOOO no-bond resonance 

(C) bonded resonance . 

(D) ,r—bonding . 

(G)JJ @MmLJH GTdTuD. 

(A) 6lGQ 

(B) 

(C) 6mauqdroT L 6&LF 

	

• 	(D) 	 rii 

	

:8O 	The correct order of —I effect 

	

• 	(A) i<Cl<BrI 

F>Cl>Br>I 	. 

I 60mawg& &ffluj rTGw Qj 6lm&  

•.(A): F1<Cl<Br<I 

	

• 	
(C) • F>Cl>Br>I.' 	. . 

(B) Cl> F > Br>.I 

(D)I>Br>Cl>F 

(B) Cl>F>.Br>I 

(D) I>Br>Cl>F 
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81. 	Which one of the following is not a chromophore? 

—OH 	 (B) —NO2  

(C) ,CO 	 (D) — N=N-  

rj 	w 	j9 

(A) - OH 	 (B) —NO 2  

(C) ,CO 	 (D) —N=N- 

82. 	The dye obtained by heating resorcinol and phthalic anhydride with ZnC1 2  is 

(A) Malachite green 

Fluorescein 

(C) Methyl orange 

(D) Congo red 

•ffiG&FrfrAaTrrGbLD~gib 	 ZnC12 	i 	urr 	urrb 5rrujtb 

(A) w1i• 

(B) L4Garrr iyrr9d7 

(C) Qwo 

(D) 

83 	Which one is not correct about indigo dye? 

(A) Vat dye 

(B) obtained from anthranilic acid 

Direct dye 

(D) Consists of carbonyl group 

rr.erruiib #rr ftj p§ 

(A) 	Qrri&rrujtb 	. 

• 	(B) 	 L)j 

(C) 	Gpirarrutb 

• 	(D) /CO Qprr5o Qnthri 
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84 	How many clural carbon atoms are present in fructose? 

(A) 	1 (B) 2 

3 (D) 4 

6)6T 	)&9G1) 	r1ITU6T 	 G1T 	CLJrT&fl) QrLI? 

'(A) 	1 (B) 2 

(C) 	3 (D) 4 

85 	Fructose gives two epimers on reduction 

Glucitol and manmtol 

(B) Sorbitol and glycerol 

(C) Manmtol and glycol 

(D) Hexane 

L6)afl) 

(A) ijrb LofgCb wijrb 

(B) iw 	wjw 	thrro 

(C) wrrLJrGb wWjib  Almamfrdb 

(D) mW&G&& 

86.1 Non-reducing sugar is 

Sucrose (B) Glucose 

(C) 	Fructose (D) Aldose 

(A) 	(rrrm (B) rrn 

(C) 	trrn (D) 
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87 	When sucrose is heated with con HNO 3 , the product is 

(A) Succharic acid 

Oxalic acid 

• 	(C) 	Formic acid 	. 	 . 	 • 

(D) Invert sugar 

	

lLrr GmpLM 	JL-& 	 LUuj 

(A) i6üw 

(B) iSkb 

(C) Ljrrftt&& 916oLb H 
(D) 

• 	.88. 	Which is sweetest among known sugars? 

(A) Sucrose 	 \Fractose 

(C) 	Glucose • 	 (D) Lactose 

• 	 (A) 	 • (B) 	°ijru 

(C) 	 rrGro 	 D) 	irrro 

	

- • 89. 	During Nitration of benzene, the active Nitrating agent is 	
• 	 : • 

(A) 	NO 	- 	
• 1 	.. 	

. 

N0 	 (D) HNO 

Quii 	irrr GJDW FuJulw  Currj 	Jrrr ron 	r1ujrr 	uuj 

(A) NO 	 (B) NO 3 	 2 

(C) 	 • 	(D) 	HNO3. 	- 	. . 	. 

- 	
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90.. 	What is a ketal 9  

(A) When a hemiacetal reacts with con HC1/CH 30H is forms ketal : 

d When a hemiketal reacts with con HC1/CH 30H informs fructoside which is know as 

ketal 

(C) Ketone is oxidised by con HNO 3  ketal is formed 

(D) Ketone is reduced, ketal is formed 

L_L_1rQ GTT1r1) TTT7 

(A) ®mWLa ,-iALL- rr~b con HC1/CH 3OH 	ii Qum uu@ Gugi  

(B) con HC1ICH30H ti thli qijirj 	rr 

QUIJJIr 	LJri) 

(C) Crri irr HNO 3  u 	n9Coi wi.jj &muuj 

(D) iri 9@&6ed 	9 G0L__ uL_j§ 

91 	Select the chromophoric groups in the following 

I 	NO2  

II 	—CH 

III. 	_NH2 

IV —N=N 

(A) 	I and II 	 (B) II and III 

(C) II and IV 	 I and IV 

rrri] 	 Qu 

I 	NO2  

II 	—CH 9  

IV —N=N 

(A) I and II 	 (B) H and III 

(C) II and IV 	 (D) I and IV 
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• 92. 	The C - H bond length in methane is 

(A) 	153A (B) 	123A 

109A (D) 	132TA 

iCr fpw&& LOki 	rr C - H 	tu 	t1ru 	frw 

(A) 	153A (B) 	123A 

(C) 	109A (D) 	132A 

93 	Example for sp 2  hybridisation .  

(A) 

	

CH, jor C2H4 

(C) 	C21-1 6  (D) 	C2H2  

sp 2 	LDrr~5g&6 gLffirr v6wLb 

(A) 	C114  (B) 	C 9 1-1 4  

(C) 	C2H6  •D) 	C2 1-1 2  

94 	In sp hybridisation, How many 2p orbitals unhybrithsed9  

(A) 	• 	 •l 2 

(C) 	3 (D) 	0 

sp 	uliw 	Sl 	 rrorr 	 iji 

(A)i 	• (B)2 

(C) 	3 (D) 	0 
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95 	Which of the following compounds exhibit enantiomers 9  

J 	CH2 0HCHOHCHO 

2 	CIT3  

CH3  -CH-CHC1-CH 3  

3 	CH3 -CH2 -CH-CH3  

CH3  

4 	CR3  CHOHCH3  

1,2 (B) 	3,4 

(C) 	3 (D) 	4 

Quui.i 	 Qj5 	wrirr 	Cturrwrrir 

1 	CH2 OHCHOH 0110 

2. 	CR3 . 	 . 	 . 

C113  -CH-CHC1- CIT 3  

3 	CH3 -CH2 --CH-CH 3  

CH3  

4 	CR3  CHOHCH3  

(A) 	1,2 (B) 	3,4 

(C) 	3• 	. (D) 	4 

96.. 	How many chiral centre in Tartaric acid? . 	 . 	 . 	 . 

(A) 	1 

(C) 	a (D) 	0 

uJJp 	.rrrrur 	Trrr6r? 

(A) 	1 (B) 	2 

(C) 	3 (D) 	0 
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97 	Which is not true about carbanion 9  

(A) The —ye charged carbon is sp 3  hybridised 

(B) The non bonded electron occupy on the hybridized orbital 

(C) Methyl carba.nion has a pyramidal structure 

Noof Methyl carbanion has a paramagnetic 

aur&~&uuLL 	 rrrrui r.rrr 	 Qu 	rrj crj? 

(A) rIfta5li &mLD ir6fr a3 r4u& sp3 	uL96TLb 

(B) rui90 u&6 Quir 	trri aouir 	 LW Qu1pj 

(C) Qioo & rrrru& r1n-  m ujafl &&Ge3 rrGw eutw 

(D) QLOI 	rrrru6M iIn-  iUJG1 urrrrr a s rr~p pdTGnLD 

98 	ORD is related to 

(A) absorption 	 refractive index 

(C) 	reflection 	 (D) scattering of light 

ORD 	rnj? 

(B) 9afl flG 

(C) 	 (D) 	thl 

99; ORD and CD are 	and 	 respectively. 

(A) Absorptive, Dispersive 

(B) Dissociative, Absorptive 

(C) Both absorptive 

Dispersive and Absorptive 

01W ww CD uirrij 	 ujj 

(A) 	1&w .élJJLO 

(B). 	Lu.jLb, 

(C) 	ri9Cw 

(D) é)jw 	1&tr 
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100. The least symmetric crystal system is 
(A) 	monochmc (B) 	cubic 

(C) 	tetrahedron trichmc 

L1519 	jpj 	Irrw Qrrr 	uLT& SAGDLDuL 4 	rj7 

(A) 	ii1 	uuw (B) 	ULt 

(C) 	rrrü uib (D) 	(pajü uib. 

101. Which of the following gases will have highest rate of diffusion? 
CH4  (B) 	NH3  

(C) 	N2  (D) 	CO2  

Qrr 	eurru 	GTJ? 

(A) 	CH4  (B) 	NH3  

(C) 	N2  (D) 	CO2  

102 	Boyle's law is expressed as 
V=T (A) PV=K 

(C) 	P=V (D) 	V= 

uffuln) 	]l(3)UJ 	 Ls)J1rI 	urrw 

(A) 	V—T (B) 	PV=K 

(C) 	P=V (D) 	V=- 

103 	The free path is the distance travelled by the molecule 
(A) 	after collision (B) 	in one second 

before collision (D). 	in one minute 

uw (free path) 	m3ruJ 	tGrrrru uurLn 

H (B) 	go  GgGwrr4uq ~b 

(C) 	wrrj (D) 
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104 Calculate the average velocity of nitrogen molecule at STP 

45,447 cm sec' 	 (B) 45.447 cm sec' 

(C) •. 49,330 cm sec-'. 	 . 	(D) 46138 cm see-' 

STP-o GTTT 	 LlM jrr1 

(A) 45,447 cm see' 	 (B) 45.447 cm sec' 

(C) 49,330 cm sec' 	 (D) 46138 cm sec' 

105 The mass of 2240 ml of CO 2  at NTP will be 

(A) 40g 	 (B) 88g 

44g 	 (D) 80g 

NTP-Go 2240 u51G&l CO 2  ­ea  k 

(A) -'40I 	 (B) 880 

(C) 	44 	: 	 .. 	(D) 8.0 

106 The efficiency of heat engine could never be 

(A) 	10% 	 . 	 (B) 5.0% 

(C) 70% 	 100% 

ujrrj 

: (A) 	10%. 	 (B) 50% 

(C) 70% 	 (D) 100% 

107 The collision frequency of the gas is 

directly proportional to the square root of absolute temperature 

(B) directly proportional to square root of the pressure 

(C) directly proportional to pressure 

(D) volume 

DIrl) 

(A) 

(B) . 	•. 

(C) 

(II) 	rr 
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108. 	The value of critical constant VC  is 

I 
(A) 	2b 

(C) 	4b (D) 3 

Oawow rrp wrr 	VC  -,~u wIu 

(A) 	2b (B) 3b 

(C) 	4b (D) 3 

109 	The entropy of the system increases in the order 

(A) 	gas <liquid < solid 

solid < liquid < gas 

(C) gas < solid < liquid 

(D) solid = liquid < gas 

)WUL6T Gr6 	Crrui1 	ujirq 	uif 

(A) Qjmq <$nww < OdunoLb 

(B) 1rwu <rrww < urru 

(C) QjrruA <rww <$rrww 

(D) OduwLb 	jrrww < Qjrru 

• 	 • 110 	The ratio ,  of specific heat is used to determine the 

Soto atomicity (B) acidity 

(C) 	basicity (D) multiplicity 

&uQ&iuu G94OMP uujiu®l 	ijiluj 

(A) 	qqP&&L@ rr (B) D6T)LD 

(C) 	iic (D) Qu w 
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111 In an electrolytic cell the chemical change that occurs at negative electrode is called 

oxidation 

(B) reduction 

(C) neutralization 

(D) precipitation 

i r1fr 	iurruo gI.w,aib 	 GT&g Quujfr. 

(A) CTfpJDw 

(B) gw 

(C) un& 

(D) urro 

112 Molar solubility is the number of 	 of the substance per litre of the solution 

(A) grams 

(B) kilograms 

(C) g eqmvalents 

motes 

iorrorrrr 	iDoT GT&ugi 	tSl LLJr sru u rro amft6wT 	 GTMTMfl&ma3ujrr5Lb.  

• 	(A) • 	1rribth • 

• 	.• (B) 	rrrrdiT 

(C)• g-orrTd 

• 	(D) 	wrror 

113. Radioactive decay is 

lorder 	 (B) harder 	• 

• 	• (C) 	Zero order 	 (D) III order 

T&1T 

	

(A) 	Iaio 	 (B) IIj 

	

(C) 	jum ai 	 (D) III 
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114 In Debye-Huckel Onsager equation, a plot of 2 versus 	gives the slope value 

(A) 	2 	 (B) ,t 

(C) 	B2,,, 	 iP9 (A+B2) 

	

5Lo6TurrLJo. k 	th 	 utb 	jrr€Ti 

(A) 	A.6 	 (B) A O  

(C) 	 (D). (A+B2) 

115 When HCl gas 1$ passed through a saturated solution of NaCl, the solubthty of NaCl 

• 	 (A) 	will increase 

(B) will remain the same 

will decrease  

(1)) 	will become zero 	•. 

&rn4ujib 	rrn 	 nff&b 	jyi .6GaTrrGWj@ Qjrri4 Q#gjOgjLbGLjrr:V c8ir4uJLb 

rrGicT 	)6T 

(A) 	i(!Lb 	 • 

•(B)- 

• 	:-(C) 

(D) 

116 For a reaction A -+ product, a graph of 	 versus time is found to be a straight line the 
ax  

order of the reaction is 

(A) 	zero order 	• 	 B) first order - 

second order 	 (D) third order 	 • 

A 	Qurr&r.ir r€r 	iu10 	
x 

wpjw 	w 	 uw 

• 	 •: 

(A) • -uj aio 	 (B) 

(C) 	rtsrw QJGD,% 	iirrw 
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117. Match List I with List II and select the correct answer: 
List I . List II 
Cathode Over potential 

(a)•• Zinc 1. 0.78V 
(b) Copper 2 0.70 V 
(c) Silver.  3 0.23 V 
(d) Mercury . . 4. .0.15 V 

(a) 	
) 

(c) . 	 (d) . 

(A) 1 	. 	 2 3 .4 . 	 . .. 
(B) 3 	4 .1 2 

3. 4 ..i . 

(D) 4 	1 2 3 

a)& I LDjPJLO aifto& II &3 uuc3 

J&II 
ffL16TsufrUj L15I).$ LT(W 

(a) rr&n 1 0.78 V 
(b) &rauLjrr 2 070V 

. 3. O.23V 
(d) urr&ib 4. 0.15 V 

(a) 	(b) (c) (d) •. 
:(A) •1. • . 	2 3 . 4 . 

(B) . 3 	4 1 2 
(C).2 3 4 1 
(1j)4 .2 3 . 

118. The mathematical relationship between the half cell potential, standard electrode potential 
and the temperature of the cell is called as 

Nernst equation 	 (B) Over potential 

	

• (C) 	Free energy • . • . •. 	. 	(D) Maximum work •• 	. 	. 	• 

LLSl5T0 	QLD LODJLO QaIUULb- 	 rri 	Qrrirrq 

Tw_ 	 rsij 	uu®j 

	

(A) 	Qpft6iffdoL wsiurr 	 (B) 660831 LLTQLO 

	

(C) 	ijorr 	 (D) 	uui1uji Caio 
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119. The •emf of the following half-cell is Sn 4  + 2(? Sn2  —0.15 V. Calculate the free, energy 

change .. 

(A) 	15 kJ (B) 	25 kJ 

(C) 	58 kJ 29 0.  

]LL 	() 	L6T 	 ij 	Sn4  + 2e5  —* Sn2  —0 15 V 

1 	ru1r 	airr 	wrrin 	uii2 

(A) 	l5 kJ (B) 	25 kJ 

(C) 	58 kJ (D) 	29kJ 

120 	Match List I and List II and select your answer using the codes given below 

List I List II 

(a) 	Anaesthetics 1 	inhibit the growth of microorganism 

(b) 	Antibiotic 2 	relief of pain 

(c) 	Analgesic 3 	lower elevated body temperature 

(d) 	Antipyretic 4 	loss of sensation 

(a) 	) 	 (c) (d) 	. 	. . 

4 	1 	2 3 

(B) 	4 	2 	3 1 

(C). 	1 	2 4 • 	. 	 . 

(D) 	4 	1 	3 2 

LirI 	1 wo G)jMen& 2 & QurrI 9Gp Q 	suuL 	 rIurri 

IrI J)JJ 

(a) 	ii 1 	 ulçrs Qrw 

(b) 	g 6krgp u9 GT 2 

(c) 	Qja OQjFrVQA 3 

(d) 	.rruj.a 	uil 4 	Jpjw 

(a) 	(b) 	(c) (d) 
• 	

• 	 (A).. 	4 	1. 	2 •3 	 • 	. 

(B).4 	2 	.3 1 	 ... 

(C) 	1 .. 	:2 	. 	3 . 4 

(D) 	4 	1 	3. 2 	• 	 . 
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121 	Raman spectroscopy is based on 

(A) 	Absorption of light 

(B) 	Diffraction of light 

.Scattèringoflight 

(D) 	Reflection of light 

ffw6)UJ6)Q) 	JUU)L. 

(A) 

: 

(C) - 

• 	 (D) 	u6o 

122. 	Rotational transitions occur in 

(A) 	NMR (B) 	ESR 

(C) 	X-ray SPIOOPMW 

gi60 

• 	 (A) 	NMR 	• 	 • 	 • (B) 	ESR 	• 

(C)- 	X- (ID) 	ro.(MW) 

123. 	Which-is not source of antibiotics? 

(A) Bacteria 

(B) Fungus 

• 	 t4(Virus 

(D) 	Actinomycetis 

rLuuJ 	6T96T GTJ 	F1W 	QY? 

(A) 

(D) 	 w&ro 
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124 	n -+ iz 	transition is exhibited by 

(A) 	C=C (B) C-H 

C=O (D) CC 

n —> 2T*)O LorrQ) 	rrLXLD 	JuL 

(A) 	C=C (B) C-H 

(C) 	C=O (D) CC 

125 	In NMR, J value is 	 of magnetic field 

independent (B) dependent. 

(C) 	average (D) product 

NMR 	J-wu 

(A) 	1uoo 	.. 	 . (B)• @un®J 	. 	 . 	 . 

(C) 	rr&i1ujrrw (D) Quo 

126. 	Which of the following molecules will not show pure rotational spectrum 

(i) CH4  

(ii) HC1 

(111) 	H 90 

(iv) 	CO2 	 . . 
. 	 :. 

(A) 	(i) and (u) vie (i) and (iv) 

(C) 	(i) and (m) (D) (ii) and (m) 

®UfF GT55 VGo Lff p545A ap 	W)OG)UJ paej Obi)6na) 

(i) 	CH4 	 . . 	 .. . 
.. 

(n) 	EC1 

(iii) H90 

(iv) CO2  

(A) 	(i) WJLO (n) (B) (i) wiu (iv) 

(C) 	(i) wpio (ni) (D) (ii) (m) 
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127 How many lines are observed in ESR spectrum of methyl radical? 

(A) 3 

(C) 	5 	 (D) 6 

	

o 	(CH;) 	 ESR 	uiki 	 rrriw 

(A) 	3 	 (B) 4 

(C) 	5 	 (D) 6 

128 Which of the following will show an absorption band at greatest wave number? 

(A) C=C 

(C) C=O 	 (D) C—N 

ijnjrr GrJ 	 ut_ 

(A) C=C 	 (B) CEC 

(C) C=O 	 (D) C—N 

129 Paracetamol is conjugated and detoxified by 

(A) Suiphonic acid (Path I) 

(B) Glucaromde (Path II) 

(C) By dissolving 

Both (A) and (B) 

ULLOFF 	 Wfluu9JJ 

(A) &dburrafl& u51oio (urr 	- I) 

(B) (urrGnp II) 

(C) 

(D) (A) ioib (B) 

• 	
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130 	Consider the following pairs 

Moleciuie Dipole moment 
I 	CO2 	 - OD 

II. Cis-dichioro ethylene 	- OD. 
III. 0- dichioro benzene 	. 	- 2.6 D 

Which of the pair given above is/arecorrct? 

(A): 	I only 	 . . 	I and III only 

(C) 	II and III only 	. 	.. () 	II only 

UOTL. 

6L pGLUJ 	UL40LD 

1. 	C0 9 	.. 	. 	 - OD. 	 . 	. 

II 	m—i 	mri aoa& -  OD 

III. 	6CGrrrrrfrr 	- 2.6D 

(A) 	Iwih 	 . (B) 	Iioit.b III wib 	 : 

(C) 	II wØgllLb  III LDL®Lb (D) 	II wiib 

131 	The precipitating power of Al" ,Na,Ba 2  is in the order 

(A) 	Na > Ba 2  <A1 3  (B) 	Ba 2  > Na > Al 

(C) 	J 3  > Na > Ba 2  > Ba 	> Na 

Na , Ba2 	ujj 	 ujrrw 	 rj7 

(A) 	Na > Ba 2  <A1 3  (B) 	Ba 	> Na > Al'  

(C) 	Al 3  >Na >Ba 2  (]) 	>Ba 2  >Na 

132. 	The u value of dichlorobenzene is zero. The isomer is 

(A) 	Meta 	.• 	. 	. . 	(B) 	Ortho 

Para 	. 	. (D) 	Not predicted 

-OT LoLLl 	1UJLD 	TD1r6), 	IJ 	WrFUJLDcrLD 

(A) 	QwLrr 	. (B) 	frCrr 

(C) 	unir (ID) 	a3du&g 4&& 	ujrrj 
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133 	The Parachor may be defined as 

The molar volume of a liquid at a temperature so that its surface tension is unity ,  

(B) The molar volume of a liquid at a temp so that its surface tension is zero 

(C) Volume of a liquid at a constant temperature 

(D) Surface tension is zero 

urj.9rrrr iTUT 	uJp 

(A) go g ,&jL9LL Quuu)uco 	&ii uu Ll 9'(LSGaGna: 9&V Gr&m Qurr 	rnrr 

Cwrrrrrr U(WT 

(B) uLcL± 	Quuuuki 	cr 	asi uuj 	 uJw 	rp Qurrpj 

lT1F CLE1rI)1V1r U(W6T 

(C) 

(D) uuq 	 ujw 

134. 	Which is not ferroiagnetic element? 

(A) Fe 	 (B) 	Co 

(C) Ni 	 Sn 

TJ 	 LOO)? 

(A) Fe 	 (B) 	Co 

(C) Ni 	 (D) 	Sn. 

135 	The process of converting precipitate into colloids is called 

(A) Emulsion 	 soe Peptization 

(C) Coagulation 	 (D) 	Adsorption 

aLwwrr 	LDflJW (W 

(A) () 	& rr 

(C) ru 	 (D) 	uruisurrii 
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136 	The calculated value of parachor for benzene with Kekul&s formula is 

(A) 	695 (B) 	2190 

2069 (D) 	989 

Quth1i uw wlutj 

(A) 	695 (B) 	2190 

(C) 	2069 (B) 	989 

137 	Match the dipole moment values of the given molecules 

(a) 	H2  1 	191 

(b) 	HF 2 	087 

(c) 	HC1 3 	103 

(d) 	HBr 4 	0 

(a) 	(b) 	(c) (d) 

(A) 	1 	2 	3 4 

4 	1 	3 2 

(C) 	2 	3 	4 1 

(B) 	4 	2 	1 3 

rw 	TT QTUJ 	5ULLO WUL6)T 9UL93 

(a) 	H2  1 	191 

(b) 	HF 2 	087 

(c) 	HC1 3 	103 

(d) 	HBr 4.. 	0 

(a) 	(b) 	(c) (d) 

(A) 	1 	2 	3 4 
1

.  (B) 	4 	1 	3 2 

(C) 	2 	3 	4 1 

(D)4 	2 	1 3 

SAICI19 52 	 ZZ 



138 	Which of the following statements regarding surface tension are correct? 

(i)  Liquid droplets assume spherical shape because of surface tension 

(ii)  Surface tension does not vary with temperature 

(in) Surface tension will never be zero 

(iv) Surface tension has units of force per unit distance 

(A) (i), and (n) only, 	 (B) 	(i), (n), and (in) 

(C) (n), and (iv) only 	 (i), and (iv) only 

U 1JL1 Gtl 	UUULL 	rrw Q 	rrçrr 	Tö)D 	rrQ 

(i) '  ft~gGfflffi& 	 111IIJLO Quji uiju 	 urro prr6k 

(li) UQU Qft UJO 

(in) uu 	 &UT wu 	Currjw 0 	rrj 

(iv) u&/ri.bib. 

(A) (i), WgLO (n) LDL@Lb 	 (B) 	(i), (n) wgjiw (in) 

(C) (n) wiio (iv) 	 (D) 	(i), wpjw (iv) 

139 	Langmuir while deriving adsorption isotherms did not make the following assumptions 

(A) The layer of gas adsorbed on the surface is one molecule thick 

(B) The absorbed layer is uniform over the surface of adsorbent 

(C) There is no attraction between the adjacent molecules 

The attraction between the adsorbent molecule is extremely large 

Gwr~jUfr Qju uwrrprr 	rrco 	rr 	irrw Qu rj Q 	ouc9ir 	ij LD1GTW 

(A) uiju 	iir 	 uwi 	tiuj 

(B) u rf CiLl 	pujw 	içruu 	Qurri 	rrrrj 

(C) iijuLL 	 LUJ 	L1 	&k 	oo 

(D) juu 	 ik 	ijrr4 e1 	ri3 
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140 	Match the name of compounds (List I) with their molecular formula (List II) 

List  List II 

(a) 	Diborane 1 	HBF4  

(b) 	Fluoroboric acid 2 	B4C 

(c) 	Borazine 3 	B 9H6  

(d) 	Boron carbide 4 	B3N3H6  

(a) 	(b) 	(c) (d) 

(A) 	3 	2 	1 4 

3 	1 	4 2 

(C) 1 	2 	3 4 

(D) 1 	3 	4 2 

rrw 	5ith1r QuuJG (iiko 	I) 	prJi1i 	 uuu9tr ( 	 thlGo 	II) 

Quib. 

GUM GII 

(a) 	urrc 1 	HBF4  

(b) 	qruIi&ow 2 	B4C 

(c) 	GurrVA& 3 	B2H6  

(d) 	Currrrrru® 4 	B3N3 H6  

(a) 	(b) 	(c) (d) 

(A) 3 	2 	1 4 

(B) 3 	1 	4 2 

(C) 1 	2 	3 4 

(D) 1 	3 	4 2 
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141 	Match the following 

List I List II 
(Compound) (Lattice energy) 

(a) 	LiC1 1 	182.0 

(b) 	NaC1 2 	158.9 

(c) 	KC1 3 	164.3 

(d) 	RbC1 4 	193.9 

(a) 	(b) 	(c) (d) 

(A) 	4 	2 	3 1 

4 	1 	3 2 

(C) 3 	1 	2 4 

(D) 3 	4 	2 1 

iou Quff(! 

(ki Quujir) (rru c,p)) 

(a) 	LiC1 1 	182.0 

(b) 	NaCl 2 	158.9 

(c) 	KC1 3 	164.3 

(d) 	RbC1 4 	193.9 

(a) 	(b) 	(c) (d) 

(A) 	4 	2 	3 1 

B) 	4 	1 	3 2 

(C) 3 	1 	2 4 

(D) 3 	4 	2 1 

142 	In borazine, the bond length of B - N is 

(A) 	155A (B) 136A 

144A (D) 142A 

CurIü B—N 	ruifrw 

(A) 	155A (B) 136A 

(C) 	144A (D) 142A 
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143 	In Borazine B and N atoms are hybridised 

(A) 	Sp3  (B) 	Sp 3 d 

Sp2  (D) 	Sp 

GurTGVrTA 6&b B wpju N 	jrr ouiIi& 	Qr®rrrrj 

(A) 	Sp' (B) 	Sp3 d 

(C) 	Sp 2  (D) 	Sp 

144 	Ionisation energy is always 

(A) 	an exothermic process 

(B) 	a spontaneous process 

(C) 	a reversible process 

an endothermic process 

Iuirrw GTuGurrph 

(A) Qaiuu 	 ((p)) 

(B) turri (yop 

(C) LS&096nm prp 

(D) &Gnp  

145 	The electron affinities of the alkaline earth metals are all 

(A) 	positive negative 

(C) 	zero (D) 	very high 

'E rrV .  Lor z?-CcorwWwfl ck 	1rT 	QJrr UJJ 

• 	(A) 	• 	CftL 	ji (B)GT~@ ft Lo)uq 

(C) 	6&DdLULB (D) 	rr 
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146 	The molecular formula for Borazine is 

B3NH6  (B) B3N3 H9  

(C) 	B 9 N 2 H6  (D) B4N 4 H8  

Ounrr66T Uco&&Lp Gijrriuurr@  

(A) 	B 3N 3 H6  (B) B 3N 3H 

(C) 	13 2 N 9H6  (D) B 4N 448  

147 	Which of the following has high ionisation potential? 

(A) 	Alkali metals 

(B) 	Alkaline earth metals 

(C). 	Halogens. . . 
Rare gases 

rj 	 uJ1r(Lo gD QLu? 

(A) arry 	riT 	 . . 
(B) &Try war 	orrthith. 	. . 
(C) iii . . 	. 
(D) 

148 	Diborane on reaction with oxygen, it gives 

Noe B 203  (B) H3B03  

(C) 	2B + 3H2  (D) H3 BCO 

u1rC6T 	njIT 	TL1 Qr 

(A) 	B 203  (B) H3 B03  
V 	 . 

(C) 	2B + 3H9  (D) H3 BCO 
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:149. The moderators in nuclear reactions slow down the speed of 

(A) Electron 	
: 

(B) Proton 

Neutron 

(D) a particle 

TUlI) L&Lorr1 	LUJ 

(A) 	trrr 

(B) 	jjrsr 

(c) 	 - 
(D) 	%Gb..Ljrr pa3draGiT 

150 Which one is exhibiting natural radioactivity? 

Thorium 

(B) Calcium 

(C) Phosphorous 

(D) Potassium 	 - 

	

UiT rj 	ujbo 	1i1uth Qrtuj? 

(A) GprrMujLb 

(B)  

(C) urruçrm 

(D) QurrirruJLb 	 : 

151 Which isotope of uranium is used in nuclear reactor? 

U235 	 (B) U236  

(C) U237 	 (D) U238  

iuJ8T GT5 	5CLnUL 	 OUcko uu6uuu®Wl 9  

(A) 	U235 	 (B) U236  

• 	(C) 	TJ • 	• 	 • 	• 	(D) 	U238  
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152 What is breeder reactor? 

Fission reactor which produces more fissionable material than is consumed in its 

operation 

(B) Not consumed 

(C) Less fissionable material. 

(D) Promote chain reaction 	. 

	

TUJ 	. 	 .. 

(A) wrr uuui 	irrr tu . 	 . 

(B) 03L.bu GTWg&Qb 

. 	.. 

(D) Q,,5iTLjr G&Gn6aGnuj 	uu®Jw 

153 Which of the following is correctly matched? 

I. 	Norwegian SaltPetre 	CaO 

II 	Sindri fertilizer 	 NF14SO4  

JJJ 	 Ca(NO3 ) 2  NHNO3  . 

IV Nitrolim 	 CaCN 

(A) 	I 	 (B)II 

III 	 (D) IV 

I 	 ur rr 	St.jrr 	CaO 

II 	 io 	 NH4 SO4  

III CAN 	 Ca(NO3 ) 21 NH4NO 3  

IV 	Crrw 	 CaCN 

(A) 	I 	 (B) II 

(C) III 	 (D) IV 
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154 	Match the radioisotopes with their applications 

Radioisotopes Applications 

(a) 	Cobalt-60 1 Geological dating 

(b) 	Potassium 40 2 Thyroid 

(c) 	Iodine-123 3 Leukemin therapy 

(d) 	Phosphorous 32 4 Cancer therapy 

(a) 	(b) 	(c) (d) 

(A) 	4 	2 	3 1 

.1 	2 3 

(C) 	1 	2 	3 4 

(D) 	2 	3 	1 4 

iorji 	ji uuCTrri qU6L@Cj @Urr®1 

uujäurr® 

(a) 	C.rrurro-60 1 u.si1r QJUJD 

(b) 	Qurnjrlujw-4O 2 GrrrLu9 

(c)• 	ujrri-123 .. 	3. 

• 	 • 	 (d) 	uirfuuu-32 4. • 	 • 	 • 	 • 

(a) 	(b) 	• (c) 	• (d) • 	 • 	 • 	
• 	 • 	 . 

(A) 4 	2 	3 1 

(B) 4 	'1 	2 3 • 

• 	 • 	 • 	 (C) 	1 	
• 	

3 4 • 

3 	1 4 • 	 • 
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155 Which statement are true? 

I. 	Lanthanum does not have electron in 4f orbital. 

IL 	Except La, Gd, Lu other lanthanides have empty 5d orbitals. 

III 	Basic character of lanthanide hydroxides increase with increase in atomic number.  

IV. Except La and Lu all other lanthanides are paramagnetics.. 

(A) III alone true 	 (B) I and II are true 

SOO I, II and IV are true 	 (D) I, II, III are true 

• TGub 	ij &Tj? 

I 	 rw 4f-j,rrurrSlo 	rrr Quj 

II 	La, Gd, Lu p6ft tnpr,p 	 5d 	uiirro &rrauirrai P_dTaTo.  

III. 	ff th 	 6ST)LDGrdbTIFflW Qurr 

IV 	La ww Lu pcft i9 	irr urr 	 QrLu 

(A) 	III wLLb &M 	 (B) I rbjih II IIIJrr6rJ 

(C) 	I,IrwbJLb Wurrrj 	 (D) I, II, III & uiminj 

156 Assertion (A) AC" and Th4  are colourless 

Reason (R) 	AC3  and Th 4  has electrons in 5f orbital 

(A) Both (A) and 	are true and (R) is correct explanation of.A 

(B) Both (A) and (R) are true but (R) is not correct explanation of (A) 

j9 (A) is true but (R) is false 

(D) 	(A)is false but (R) is true 	 . . 	 .. 

(A) 	AC3  ioin Th4 	thwu 

rrirrio (R) 	AC3  wgjw Th4 	u 	r5f 	rr$Io 

(A) (A) wpo (R) riCw 	(R) GTdTu§ (A)-Gft6 &ujrri &rrLD 

(B) (A) ww (R) @Vdu@GLD affl Cwjw (R) GT&Lj§ (A)- 	&1ui irsswoü 

(C) (A)r (R)&aii 

(D) (A) paig 	nro (R) &rii 



157 Tarapur atomic power station is situated at 

Maharashtra 

• 	(B) 	Rajasthan 

(C) Tamil Nadu 

• 	 (D) •. Uttar Pradesh' 	 • 	 '. 

rrrru rr ijii5Ii 06nwuLb 	uir 

(A) wiyrr 

(B) nrri 

(C) rr 

(D). 	 • 

	

158 Edwin Macmillan and Clen Seeberk discovered 	 element 

Uranium 

(B) Lanthanum 

(C) Potassium 	 • 

(D) Calcium 

rL 	 ooã wbjib &QaT&gQufr& flwib 	 • 

(A) uuiw 

(B) orruh 	 • 	 •. 

(C) Qurrt,,i,,rr1tuw 

(ID) 	rrouitn 

159 Which is the nuclear reaction used in carbon dating? 

(A) 	4 C—* 4N+1 e 

(C) 	4 C -~ 4 N +H 	 (D) 4 C —44N +4 He 

frrrUG9k6T J1r 	 ôrUlW 6)T TIJ 9  

(A) 	4 C —44 N +0 1 )9 	 (B) 4 C -44 N + e 

(C) 	14C —44 N +H 	 (ID) 4 C —44 N +He 
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160: i Name, the given complex 
• 	[C6Ci(en)2(ONO)] 

Chioro bis (ethane-1, 2-thamine) Nitrito Cobalt III 

(B) Chioro Tries ethylene 2 diamine Cobalt Nitrate III 	- 

(C) Cobalt chioro ethylene chamino Nitrito III ion 

• 	(D) Chloro his Cobalt ethane diamine Nitrate III 

Quujifl 

[CoCl(en) 2  (ONO)] 

(A) gQGrrrrGrfrrSo (n -Coi-1 2-i&i) 	1Crr 	urroi_ III 

(B) in rioi 2 	 urri 	III mujafl  

(C) GULrrnCrr ri 	ijSli 	Crr III 	UJ 

(D) (GffrrLcIsn) CrrU1rOL rrCi 	 Cri III-Au-jatl  

161 Wer r's primary valencies are 
those which a metal exhibits in the formation of its simple salt 

(B) those which a metal exhibits in the formation of complexions 

(C) exhibit the conformation of isomerism 
(D) exhibits the no. of valence electron 

Q . ruj 

(A) wrrjrifiuj 	iq 

(B) rru 	pj 

(C) WflUJLD 

(D) -tuj 	rpi 	irr 

162. • Which one of the following is a biridentate ligand? • 

	

:t20 	 (B)• NH 3  

(C) CH3 NH2 	 O—CO—O 

6TL fl00 cVJ 	pT rrth2 

(A) 	t9 O 	 (B) NH3  

(C) CH3NH9 	 (D) O—CO—O 
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163 	What is the denticity of (EDTA) 4  ion9  

(A) 	4 

(C) 	3 Noe 6 

(EDTA) 4 	siiuth çn 	orr 	uuir urr 	surraw9 

(A) 	4 (B) 	2 

(C) 	3 (D) 	6 

164 	Which of the following complex/complexes gives curds white precipitate with Silver nitrate 

solution? 

(i) [Co(NH3 ) 6 ]C13  

(ii) {Co(NH 3 )3 C1 3 ] 

(m) 	[Cr(H 2 0)6 ]C13  

(iv) 	[Pr Cl2  (NH3 )2 11 

(A) 	(i) alone (B) 	(n) and (iv) 

(i) and (m) (D) 	(i) and (iv) 

Cwth ru Q6iJr 	LEL 	JLT 	unâr 	uu 

Q.cw 9  

(i) [Co(NH3 ) 6 ]C13  

(ii) [Co(N113  ) Cl3 ] 

(in) 	[Cr(H 2 0) ] C1 3  

(iv) 	[PrC1 2  (NH3 ) 7 1 

(A) 	(i) WLW (B) 	(n) LDftnLb (iv) 

(C) 	(i)wjbjib(iii) (D) 	(i)iojbgjib(iv) 

SAICI19 64 



165 	Write the formulate the complex 

Sodium penta cyanonitrosyl suiphido ferrate III 

(A) 	Fe3 [Na4 (CN)5  - [NO]S 	 a4 [Fe(CN)5 (NO)S] 

(C) 	Fe[Na3 (CN)5 NOS] 	 (D) 	Fe2 [Na4 (CN)5  NOISO 

QuLL 	r€ 	CD6T urrujurrLL.. 

rrLuJw Qu 	urrr 	Cirrro & 	uttrr QuirCry 	III 

(A) 	Fe3 [Na4 (CN)5  - [NOIS 	 (B) 	Na4  jIFe(CN)5(NO)S] 

(C) 	Fe[Na3 (CN)5 NOS] 	 (ED) 	Fe[Na4 (CN)5  NO]SO 

166 	In Size Exclusion Chromatography the proportionality, constant K in the equation 

VR  = V. + KV where for medium size molecules 

= volume of retained 

Vm  = the volume of solvent out side the beads 

V = pores volume 

(A) 	K=O 	 (B) 	K<O 

K<1 	 (D) 	K>1 

SEC 	u]oi €uir 	ui1 	ppuo 	rrr K-ui LDIuLI 	9çr ULDGT 	rrG 

ruut 	w? 

= Vm  + KV 

.VR=U®WLOTL 

Vm  =w Qurr<th1u umT 

= 	 Juujn- i 	 u®ior 

(A) 	K=O 	 (B) 	K<O 

(C) 	K<1 	 (D) 	K>l 
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167 Which of the following about the complex Pt(NH 3 ) 9  Cl2  is a correct statement? 

(A) Tetrahedral in shape 

The trans isomer has zero dipole moment 

(C) The cis isomer has zero dipole moment 

(D) The trans isomer has non-zero dipole moment 

Pt(NH 3 ) 2 C1 2  ugliu uT& 	rj? 

(A) 5rr&&&l €u€utb Qãr 

(B) trans- 	iuj 

(C) cis - iuj @O&GnGn 03uLI&6y 	ujwrr 	io 

(D) tran-wmuj qpoi OOuqo jDda 	uJw 	rrj 

168 The basic principle behind using the JR spectroscopy to distinguish cis and trans isomers in 

[Co(NH 3 )4 Cl2 ] 2  in the trans isomer 

(A) The dipole moment p =0 

The symmetric stretching absorption band is missing 

(C) The asymmetric stretching absorption band is missing 

(D) The dipole moment p 0 

I  OmLD su 	 cis wgiw trans 8G&rrwrr&Gow ililui ri 	uuLuo 

[Co(NH 3 )4 Cl2 ] 2  rTg @w oujib? 

(A) 	 p.=O 

• 	 (B) 	 UJ 

(C) rrQur 	uuu 

(D) ®ui)i p O 
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169 	Volume of 0 02 M MnO solution required to oxidise 40.0 mL of 1 M Fe"  solution is 

(A) 	200mL 	 (B) 	100mb 

40nL 	 (D) 	20mL 

400 ti5 	1 M Fe 2 	 Q&tLju 	Gp6oGuLLirrm 002 M MnO 	çro 

Jr6' 9  

(A) 	200 L&$1 	 (B) 	100 i&61 

(C) 	40 L6k.Sl 	 (D) 	20 u5Il 

170 	In nucleophthc substitution reaction, the best leaving group is 

(A) 	OH 	 (B)• Cl 

(C) 	Br 

GUff UL 	TU1D 	TTflD Qiflw 

(A) 	OH 	 (B) 	Cl 

(C) 	Br 	 (D) 	I 

171 	Which one is an elimination reaction? 

(A) CH, -CH3  +CL, -+CH3 CH 2 C1+HC1 

(B) CH3C1 + KOH —* CH 3 OH + KC1 

(C) CH 2  = CH9  + Br2  - CH 2  - Br - CH2Br 

C 2H 5Br+KOH-C 2 H4 +KBr+H 20 

T111O GTJ 	 TLurr(Lo 9  

(A) CH 3  - CH3  + C12  .—> CH 3 CH 2C1 + HC1 

(B) CH3C1 + KOH - CH30H + KC1 

(C) CH 2  = CH2  + Br9  —* CH 2  — Br — CH 9Br 

(D) C 9 H5Br+KOH-C 2 H4  +KBr+H 20 
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172 	In the following reaction sequence, the chain terminating step is 

(A) 	Cl-Cl -*C1+C1 	 (B) CH4 +C1-*CH3 +HC1 

(C) 	CH3+C17-CH3Cl+Cl 	 4wr CH3+Cl-CH3C1 

QuuL± 	iqthIo 	rj QrrLrr 	iu1i (DL 	 ouJrr(w9 

(A) 	C1-Cl->C1+Cl 	 (B) CH4 +CL-*CH 3 +HC1 

(C) 	CH3 +C12 -CH3Cl+Cl 	 (D) CH3 +C1-.CH3C1 

173 	The rate equation for unimolecular elimination reaction 

Rate = K1 [Rx] 	 (B) Rate = K2 [Rx] [0H] 

(C) 	Rate = K1 [X] 	 (D) Rate = K1 [OW] 

rrT CCU&& &LD&LJFFG)  

(A) Rate = K1 [Rx] 	 (B) Rate = K2 [Rx] [OW] 

(C) •. Rate 	K1  [X] 	 (D) Rate = K1  [OH- I 

174.. 	Saytzèffs rule is 	 - 	. 	 . .. 	 . 	. 

more heavily substituted alkene is formed. 

(B) . less heavily substituted àlkene is formed .. 

(C) no substitution 

(D) formation of transition state 

• 	. 	 . 	 .. 	 . 	. 

(A),?,qO a3 .uOo3LL-.uuL L  . 	 urr1 

(B) U 	iiuuLi 	6T81F 	GucrI 

(C) ulLi  

(D) C&rrww 	®rrJ 
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175 Electromeric effect (—E) is 

Group decreases the electron density of the rest of the molecule 

(B) Group increases the electron negativity of the rest of the molecule 

(C) Change the electron density 

(D) Change the electron affinity 

• 	rIñ 	á14rrs5T 	r 6lrrG)J (—E) GT&Ljgj 

	

(A) 	Q 	ujrrij Gjm6uLu 	 rfoi 	rri 

• 	(B) 	Qujrrij jiuj 	mthki rLrri&ajft 	baSi 	rr 

(C) iri 	w10 wrrjppw 

(D) LjrrLib 

176 Electromeric effect is used to 

• 	Addition of polar reagent on • c = c 
N 

(B) Addition of polar reagent on CB 4  

(C) Addition of polar reagent on C 2H6  

(D) Addition of polar reagent on C 3 H8  

L_IJrrT P,%ftGq 69600TCB& UUJ6T 

(A) C = C 	ij &MGUGqPLb 	11T 

(B) CH 4  LB§ QpGn6rGqpLb 	osrr C5r 	 • 	•: 

(C) C211 6  ii 

(D) C 3 H 8  
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177 	Hyperconjugation involves the overlapping of p-orbital with 

-orbital (B) 	p orbital 

(C) 	z-  -orbital (D) 	d orbital 

()fl) @Gn6mUq GTTUJ D LLJrl) 

(A) 	o (B) 	p 

(C) 	'r (D) 	d 

178 	Trimethyl amine is lesser basic than thmethyl amine because of 

(A) 	—I (B) 	+1 

(C) 	+R Steric effect 

• 	 'IL&1T, 	QLOb 	L&O6T. rrLj4Jw 	rTOW 

rrrib 

(A) 	—I (B) 	+1 

(C) 	+R 	• (D) 

179 	Chloroacetic acid is stronger acid than acetic acid due to 

(A) 	+1 —I 

(C) 	Electron affinity (D) 	—R 

crrrrrr 	Li 	1io 	lIL 	 rrLJw 	 TGLO 	Isw 

(A) 	+Irraj (B) 	—I 

(C) 	 irriiw (D) 	—R 

180 	Allyl carbocation is stable because of 

(A) 	+1 effect 	 • (B) 	—I effect 	• 

(C) 	Steric effect Resonance 

• 	 rrrruff 	LUJrrGT 	 rFT &rrry6wLb 

(A) 	+1 (B) 	—I 

(C) (D) 	q 
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181 	Which is an azo dye?,  

Congo red 

(B) Indigo 

(C) Malachite green 

(D) Fluorescien 

jCrrujih? 

(A) 1iu Ll 

(B) Odu4Gaw 

(C) wC u 

(D) lTi7T 

182 	Which of the following is an auxochrome 9  

(A) 	—N=O (B) —NO 2  

(C) 	—N=N— —OH 

w 1u(.s17 

(A) 	—N=O (B) —N0 9  

(C) 	—N=N--- (D) —OH 

183 	Mutarotation is not exhibited by 

(A) 	GlUcose 

(B) 	Fructose 

,LrSucrose 
(D) 	Galactose 

• 	 (A) 	Crrñ 

(B) 	irrn 

(C) 	rirw 

(D) 	noCtrrio 
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P1111 
184. 	A 	> n-Hexane. Where A is 

(A) 	Glucose : 

(B) 	Fructose 

Both glucose and fructose 

(D) 	Glycerose 

____ 	
• 

A 	>n-QiAr
.
iuj 

(A) ro : 

(B) t9ff&CL-rrdo  

(c) • 	15Carru iob 	LJrñ) @fjdu@Lb 

(D) 	Oafi&GVrrdu 

185. 	The general formula of carbohydrate is 

(A) 	CH2 ,10 (B) CH2 O 

C(H20) (D) C(H20)2  

u:au n-uurr@ 

(A) 	CH210 (B) CH2 6 

(C) C(H20) (D) C(H20)211  

- 

186 	Carbohydrates with Naphthol and H2SO4  gives 

a 

a ring The colour of the ring is [Mohsch's 

test] -' 

(A) 	Yellow (B) Green. - 

Voilet (D) Red 

rr41r6b 	WLn iourri 	GrGh6a 	ftOCOP 

QI 	[wrrñ 	rr,i] 

(A) (B) .  

(C) 	LO Pmlffirr. (D) A
.
GuUq 	 . 	. 
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187 The function of unhydrous aluminium chloride in the Friedal Crafts reaction is 

(A) absorb water 	 (B) absorb HC1 

(C) to produce nucleophile 	 produce electrophile 

ikb £rri 	iub 	i6uib 'Go 	 i Qurrij 

(A) 	r 	 (B) HCJ 

(C) 	irr 	rr 	 I) 	 rurr 	urr 

188. Benzyne-intermediate formed due to elimination of 

Joe HC1 

(B) H2SO 4  

(C) HNO3  

(D) H 

- 	 noio 	 w Currj 	urrni 

(A) HC1.- 	 G1rfli18 IL&OLO 

(B) H2SO4  -6kw 

(C) HNO3  - 	aio 

(D) H 

189 Assertion (A) Glucose does not restore Majenta Colours of Schiff s reagent 

Reason (R) 	Glucose exists as a hemi-acetal form 

• (A) •(A) is True (R) is Wrong 

(B) (R) is True (A) is Wrong 

(A) and (R) are True (R) is the correct explanation for (A) 

(D) (A). and (R) are True (R) is not the correct explanation for (A) 

aj (A) 	Crrn 	uu 	 frrui1.s Quuoü 

	

rib (R) :rru 	-Csrb 	uo 

(A) 	(A) fl (R) paign 
(B) 	(R) &rfi (A) uj 

• (C) 	(A) LorbgJLb  (R). rriI 	(R) 	 Q 	idrwgi  

(D) 	(A)'ww (R) &i1 	irro (R) 	ujrri 
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190 Assign R (or) S configuration to the following 

H 

HO—C—CH' 

COOH 

(A) R 	 : 
(C) •  Can not predicted 	 (b) RS 

rL_ 	R 	S =AmLDuun- 

H 

HO—C—CH 3  

COOH 

(A) R 	 (B) S 

(C) 	Qrro 	pujrr 	 (D) RS.• 

19L Circular thchroism is based on the difference in the 	 of left and right circularly 
polarized light. 

(A) refractive indices 	 (B) activity 

absorption 	 (D) reflection 

r&w (CD) or&u§ 	WfjW 	 LLLorr (rrhu 
UGfF 	 GaiJUrrLJr(LO 

• 	 (A) 	• 	 (B) 	LOth'OT 	•. 

(C) 	 o 	 • 	 • 	(D) 	ua$ 

192 Hybrichsation means 

mixing together of a Certain No of Atomic orbitals 

(B) mixing together of a Certain No of Molecular orbitals 

(C) mixing together of a Certain No of Bonding orbitals 

(D) Mixing together of a Certain No of Antibonding orbitals 

s;GuU 6I6rLDrrpdb GTGaugd 

(A) of1GoT 5GoGnGu 

(B) §ko 	 1tálr asGoGnw 

(C) 10 	 ft ooij 
• 	(D) Aw 	rC 	 ai 
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193 Homolytic fission leads to formation of 

(A) cation 	 (B) anion 

free radicals 	 .(D) atom 

9 (krri) LganuLgawdb 	arn€uj 

	

(A) 	Gg5 	uj 01 	 (B) 	uj 

	

(C) 	Pafl . 	. 	 (D) 

194 The carbocation is stabihsed by 

Resonance and Inductive effect 

(B) Hyper conjugation 

(C) Steric effect: 	 . 

(D) Electromeric effect 

(A) i 

(B) . 

(C) G9GnGnGq  

(D) . 	 . 

195. Stereo chemistry deals 

(A) the arrange of electron 

(B) the arrange of proton  

(C) the arrange of ions 

the three dimensional structure and reactivity 

	

uujiiCrrib 	 . 	. 	. 	. 

	

• (A) 	 Dju &juj 

(B) thlr sicow6 m u 	jsuj 

(C) wuu &i&ij 

(D) puu69wrri Gu4QjLb wjtn 	lr LOGO UJ 
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196 	Assign E and Z designations to 

H 	/CH3 H 	/H 

= C\  = 
C\ CHa 

CH3 CR3 

E,Z (B) 	Z,E 

(C) 	•E, E (D) 	Z, Z 

E iojm Z 	ouurr 

H 	CR3 / 
H 	/H 

- 	'"H "CH3 
CH3 CH3 

(A) 	E,Z (B) 	Z,E 

(C) 	E,IE (B) 	Z,Z 

197 	Fumaric acid forms anhydride only on very strong heating Why? 

Trans form (B) 	Cis form 

(C) 	R (D) 	S 

Llu]Lo 	LIOW 9I 	 aT1rO WLCLO 	&)UJ 	,(FLD GJT? 

(A) 	rrrua 	wuirrro (B) 

(C) 	R (D) 	S 

198 	Boat form of cyclohexarie is not stable compared to chair form It is because the hydrogens of 
atoms close to each other. 

(A) 	C 1  and C7  (B) 	C2  and C3  

C 1  and C4  (D) 	C3  and C4  

&J6)1ru 	 uij, 	utii 	mmwuq 	w@ 	sqGnLDuGoLi 	tq Iw 	uJ 

rrr)66rLo 	 U LJ, J 	J1U U1) 	)LD5j FFTrJ 

(A) 	C 1 LoJDoC2  (B) 	C2 iojpoC3  

(C) 	C1  ww C4  (D) 	C3  ww C4  
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199 Racemisation means 

a chemical reaction in which an optically active compounds is converted to racemic 

mixture 

(B) seperation of optically active compound with 'd' and 'L' 

(C) a reaction in which chiral centre are synthesised 

(IJ) a reaction in which achiral centre are synthesised 

)wuwrro admo 

(A) 91 &ppw Gaff LDrLaGnoT  arowrrtij ,  6SGOMQJurF83 LQJJ 

(B) gafl &WftnCD G&ff LD r~j ,%GnoT'& wjib'L'i9iuj 

(C) AmLmjiM &rrrumGv 

(D) rrw rrrruor 

200. R -S notation based On the  

Cahn-Ingold prelog rule 

(B) Walden rule 

(C) Jacobus Van't Haff concept 

(D) Emil Fisher concept 

R LDpgLb S 	uir cr 	/uo 1urrj 

(A) rr 	Trr® u1orr 

(B) i 

(C) rrun 	rrunrru 

(D) GTi&b 6 uw 
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